RIEZEEH

thnl

IE4 R7B# KFanib BablIlinE25
| KHFEKS—F2ITEFENFERE)

OREER
TR FIBEK MR B R A T B R
B i X £ FE
+ e
ORBIDID R T FRLIEWRT 5
HE T Hhig X 43 o LIl HDTIEAELY,
RIS HEIS 35%EHBZ A0%LLTDIHE
LHIREE ERORTELELT 56
RSBENES FELEL




1/

2)




2/

2)




1/

3)

35%

40%

0.00




2/

3)

1.000

10

11

1.000

12

13

14




3/

3)

15

16

17

18

19

1.000

20

21




1/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000

.000

.000

-000




2/

2)

1.000

1.000

1.000




1/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000

.000

.000

-000




2/

2)

1.000

1.000

1.000




1/

1

1.000

1.000

1.000

1.000




(

1/ 11D

.000
.000
.000
C D
(4 ,SUS,0.8m2  10m2 .2 .000 27
.6,3.0
.000 6
.000 8
CR P30x 10x 75 1:4.910 .100 | kg 29
CR t12x 80 2.010 .500 | kg 30
C )
.000 1
.000
4 .2.6,, .000 25
.000 10
( )
.000 23
.000 15




(

2/ 1D

.000
.000

.25 .10,3.0 .000 28
.000 7
.000 9
.000 2
.000

“ ,10.0,, .000 26
.000 11
.000 24
.000 16




(

3/ 1D

1.000

1.000
20kN 1.000 15
SUS316 RA20 L=7.990 1.000 16
SUS304 RA20 1.000 17
SUS304N2 1.000 18

1.000
SUS304 PL9, 10.100 kg 9
SUS304 L 100x75x7, 16.900 kg 10
SUS33L\‘1 M12x45 2N, 2PW 0.800 kg 19
SU5334NM24X230 2N, 2PW 8.300 kg 20
SUSSEL\: M12x135 2PW,SW 1.200 kg 21
AP-12 8.000 22




(

4/ 11

C )

1.000 3
1.000
1.400 2
1.000 12
1.000 17
0.600 3
1.000 18
1.000
1.000

SUS304 FB65x 9, 166.600 kg 11

SUS304 L 75x75x6, 29.300 kg 12

SUS304 ¢ 19, 14.500 kg 13




(

5/ 11

N

SUS304 M16 2PW,SW 6 0.500 kg 23
SUS334 E12x45 PW,SW 8 1.200 kg 24
C )

1.000 4
1.000
1.100 2
1.000 13
1.000 19
6.330 6
1.000 20
1.000
1.000

SUS304 PLI, 82.300 ka 9




(

6/ 11

$S400 @ 13, .000 | kg 14
(

.000 5
.000
.200 2
.000 14
.000 21
.340 6
.000 22




(

7/ 1D

.000
.000
.000
.000 4
.000 5
.000
.000
.000

“ ).2.60,, .000 34
.000 30
.000 27
.000 25

)

.000 34




(

8/ 11

1.000

3.500 31
0.800 32
1.000 31
1.000 26
1.000

9.000 31
3.000 32
15.000 33
1.000 32




( 9o/

11)

.000
.000 31
.000 32
.000 33
.000
@ Ol
.16t .000 8
200A .000 7
.000 28
.000
@ Ol
.16t -000 8




( 10/ 11y

200A

.000

.000

29

.000

.000

B2.00

x H1.55

.000

.000

.000

.000

.1.371ton,54km

.000

35




( 11/ 11

1.000

1.000

1.000

1.370

ton

36




( 1/ 2D
1.000
:8.0 :0.0
B2.00 x H1.55 :0.0 8
1 : :0.0
2) B2.00 x H1.55 :0.0
3)
B2.00 x H1.55 1.000
1.000
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) :0.0
1.000

1.000




( 2/ 21D
1.000
:8.0 :0.0
12 :0.0
D : :0.0
2) :0.0
3)
4)
1.000
1.000
1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
4)
1.000

1.000




( 3/ 2D
1.000
:8.0 :0.0
:0.0 8
1) : :0.0
2) :0.0
3)
4)
1.000
1.000
1.000
:8.0 :0.0
:0.0
l) : :0.0
2) :0.0
3)
1.000

1.000




(

4/ 21)

1.000

200A

:8.0

:0.0

D
2)

200A

:0.0

:0.0

:0.0

3)

200A

1.000

1.000

a )]

1.000

.16t

@ )l

:8.0

:0.0

iy
2)

:0.0

:0.0

:0.0

3)
4)

M

(YC)

8.0

5)
6)

)
8)

9)

@ )l

1.330

88.000




( 5/ 21
1.000
9
kg 1.000 kg
:8.0 :0.0
SUS304 PL9, :0.0
1 ( ) : :0.0
2) SUS304 PL9 :0.0
3)
4)
5) )
SUS304 PL9 1.000 kg
1.000 kg
kg
1.000 kg
10
kg 1.000 kg
:8.0 :0.0
SUS304 L 100x75X7. :0.0




( 6/ 21
n o C ) :0.0
2) SUS304 L 100x75x7 :0.0
3)
4)
5) )
SUS304 L 100x75x7 1.000 kg
1.000 kg
kg
1.000 kg
11
kg 1.000 kg
:8.0 :0.0
SUS304 FB65x 9, :0.0
n () : :0.0
2) SUS304 FB65x 9 :0.0
3)
4)
5) )
SUS304 FB65x 9 1.000 kg
1.000 kg
kg
1.000 kg




(

7/ 2D

12

kg

1.000 kg

SUS304 L 75x75x6,

:8.0

:0.0

n C )
2)

SUS304 L 75x75x6

:0.0

:0.0

:0.0

3)
4)

5) )

SUS304 L 75x75x6

1.000

kg

1.000 kg

kg

1.000

kg

13

kg

1.000 kg

SUS304 ¢ 19, )

:8.0

:0.0

:0.0

n C )
2)

SUS304 ¢ 19

:0.0

:0.0

3)
4)

5) )




(

8/ 21

SUS304 ¢ 19 1.000 kg
1.000 kg
kg
1.000 kg
14
kg 1.000 kg
:8.0 :0.0
SS400 @ 13, :0.0
1) C ) : :0.0
2) SS400 @ 13 :0.0
3)
4)
5) )
SS400 ¢ 13 1.000 kg
1.000 kg
kg
1.000 kg
15

1.000




(

9/ 21

:8.0 :0.0
20kN :0.0
1 : :0.0
2) 20kN :0.0
20kN 1.000

1.000
16
1.000

:8.0 :0.0
SUS316 RA20 L=7.990 :0.0
1 : :0.0
2) SUS316 RA20 L=7.990 :0.0
SUS316 RA20 L=7.990 1.000

1.000
17
1.000

:8.0 :0.0
SUS304 RA20 :0.0
1 : :0.0
2) SUS304 RA20 :0.0




( 10/ 21)

SUS304 RA20

1.000

1.000

18

1.000

SUS304N2

:8.0

:0.0

D
2)

SUS304N2

:0.0

:0.0

:0.0

SUS304N2

1.000

1.000

19

BN

kg

1.000

BN
SUS304 M12x45 2N,2PW

:8.0

:0.0

D
2)

SUS304 M12x45 2N,2PW

:0.0

:0.0

:0.0

BN
SUS304 M12x45 2N,2PW

1.000

kg

1.000




( 11/ 21y

20

B N

kg

1.000

BN
SUS304 M24x230 2N,2PW

:8.0

:0.0

D
2)

SUS304 M24x230 2N,2PW

:0.0

:0.0

:0.0

BN
SUS304 M24x230 2N, 2PW

1.000

kg

1.000

21

BN

kg

1.000

BN
SUS304 M12x135 2PW,SW

:8.0

:0.0

D
2)

SUS304 M12x135 2PW,SW

:0.0

:0.0

:0.0

BN
SUS304 M12x135 2PW,SW

1.000

kg

1.000




( 12/ 21y

22
1.000
:8.0 :0.0
AP-12 :0.0
1 : :0.0
2) AP-12 :0.0
AP-12 1.000
1.000
23
N kg 1.000
N :8.0 :0.0
SUS304 M16 2PW,SW 6 :0.0
1 : :0.0
2) SUS304 M16 2PW,SW 6 :0.0
N
SUS304 M16 2PW,SW 6 1.000 kg
1.000
24
B N kg 1.000




( 13/ 21)

B N
SUS304 M12x45 PW,SW 8

:8.0

:0.0

)
2)

SUS304 M12x45 PW,SW 8

:0.0

:0.0

:0.0

B N
SUS304 M12x45 PW,SW 8

1.000

kg

1.000

25

1.000

(4 ). .2.6,,

:8.0

:0.0

)
3) (@3]

“

:0.0

:0.0

:0.0

6) @
9 @

:10

1) )
12) ( )

2.6

13) ( )
14)

0.00

15)
16)

17 «c )
18)

12.250

1.000




( 147 21

26

1.000

4

.10.0,,

:8.0

:0.0

D
3)

2)

(4

:0.0

:0.0

:0.0

6)
9

@
(@))]

125

11)
12)

)

10.0

13)
14)

0.00

15)
16)

17)
18)

8.570

1.000

1.000

,oUS

,0.8m2

10m

:8.0

:0.0

2

,2.6,3.0

:0.0

:0.0

:0.0




( 15/ 21)

D
2)

3)
4)

(4
0.8m2

)

10m2

,SUS

5)
6)

)

2.600
3.0

)
8)

(@D

9
10)

@
(€8]

11)
12)

@

13)
14)

@
(@3]

15)
16)

&)
(@A)

17)
18)

(€)]

19)
20)

®
3

21)
22)

®

26)
27)

*

31)
32)

®

36)

©)

SUS304 PL6

183.000

kg

SUS304 [ 150x75x9

287.000

kg

SUS304 FB70x 9

52.000

kg

1.000




( 16/ 21)

28

1.000

.25 .10,3.0

:8.0

:0.0

)
4) (@)

:0.0

:0.0

:0.0

5) @
6) (@)

25
10.000

)
8) (ss )

3.0

9 ( )
10 @

11 @
12) (@D]ED)

13) (SUs )
14)  ( )(2)

5 @
16) ()]

17 (H®

SS400 PL6

39.000

kg

SUS304 PL6

352.000

kg

1.000




( 17/ 21

29
kg 1.000
:8.0 :0.0
CR P30x 10x 75 L:4.910 :0.0
1 : :0.0
2) CR P30x 10x 75 L:4.910 :0.0
CR P30x 10x 75 1:4.910 1.000 kg
1.000
30
kg 1.000
:8.0 :0.0
CR t12x 80 2.010 :0.0
1 : :0.0
2) CR t12x 80 2.010 :0.0
CR t12x 80 2.010 1.000 kg
1.000
31

1.000 [

1




( 18/ 21)

:8.0 :0.0
:0.0 8

. : :0.0

; :0.0

2)

3)

1.000
1.000 [ ]
32
1.000 [ ]
:8.0 :0.0
:0.0 8

. : :0.0

; :0.0

2)

3)

1.000
1.000 [ ]
33
1.000 [ ]




( 19/ 21)

:8.0 :0.0
:0.0 4 8

1 : :0.0
2) :0.0

3)

1.000

1.000 [ 1

34

1.000

:8.0 :0.0
4 ),2.60,, . s :0.0 4 8

D : :0.0
3) (@) “ ) :0.0

6) @ :10
8) CHC) 2.60

9) ( )
10)

11)
12) (G

13)

14.060

3.510

1.000




( 20/ 21)

35
1.000
:8.0 :0.0
,1.371ton,54km :0.0 8
1) : :0.0
2) X 1.371ton :0.0
3) 54..000km
1.000
1.000
36
ton 1.000
:8.0 :0.0
:0.0
1) : :0.0
2) :0.0
3)
1.000 ton

1.000




( 21/ 21y




(

1/ 18)

1.000

:8.0

:0.0

:0.0

D
2)

:0.0

:0.0

3)
4)

5)

0.130

1.000

1.000

:8.0

:0.0

D
2)

m

:0.0

:0.0

:0.0

3)
4)

(

)

5)

)

0.130

1.000




(

2/ 18)

1.000

:8.0

:0.0

D
2)

(4]

:0.0

:0.0

:0.0

3)
4)

(

)

5)

()

0.130

1.000

1.000

:8.0

:0.0

D
2)

m

:0.0

:0.0

:0.0

3)
4)

(

)

5)

)




( 3/ 18)
0.130
1.000
5
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) ) :0.0
3)
4) (@)
5) )
0.130
1.000
6
1.000
:8.0 :0.0
:0.0

l) . :0.0
2) :0.0




(

4/ 18)

3)
4)

onCH

(SUS)
9.000

)
8)

(

)

0.090

1.000

1.000

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

aneco

6.000

)
8)

0.060

1.000

1.000




(

5/ 18)

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3)
4)

(QEI(H)

(SUS)
5.000

)
8)

(@)

0.050

1.000

1.000

:8.0

:0.0

iy
2)

:0.0

:0.0

:0.0

3)
4)

(YL (%)

1.000

)
8)

(@)

0.010

1.000




( 6/ 18)
10
1.000

:8.0 :0.0

:0.0
l) N :0.0
2) @) 0.0
3)
4) (

0.600
1.000
11
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) -0.0
3)
4) (

0.600

1.000




( 7/ 18
12
1.000

:8.0 :0.0

:0.0
l) N :0.0
2) @) 0.0
3)
4) (

0.600
1.000
13
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) -0.0
3)
4) (

0.600

1.000




( 8/ 18)
14
1.000

:8.0 :0.0

:0.0
l) N :0.0
2) @) 0.0
3)
4) (

0.600
1.000
15
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)

0.250

1.000




( 9/ 18)
16
1.000

:8.0 :0.0

:0.0
l) N :0.0
2) ) 25.000 :0.0
3)
4)

0.250
1.000
17
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)

0.250

1.000




( 10/ 18)

18
1.000
:8.0 :0.0
:0.0
l) N :0.0
2) ) 25.000 :0.0
3)
4)
0.250
1.000
19
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250

1.000




( 11/ 18)

20
1.000
:8.0 :0.0
:0.0
l) N :0.0
2) ) 25.000 :0.0
3)
4)
0.250
1.000
21
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250

1.000




( 12/ 18)

1.000
:8.0 :0.0
:0.0
l) N :0.0
2)
3)
4)
0.250
1.000
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) SuS)
3)
0.090

1.000




( 13/ 18)

24
( ) 1.000
( ) :8.0 0.0
:0.0 .
1) : :0.0
2) :0.0
3) )
0.080
1.000
25
C ) 1.000
« ) :8.0 0.0
0.0 4 8
1 : :0.0
2) @) -0.0
3)
4) (@D
0.015
1.000




( 147 18)

26

1.000

:8.0

:0.0

:0.0

D
2)

(

)

:0.0

:0.0

3)
4)

0.010

1.000

27

1.000

:8.0

:0.0

)
6)

0.000kW

:0.0

:0.0

:0.0

)
8)

X

2

9
10)

(

)

0.030

1.000




( 15/ 18)

1.000
:8.0 :0.0
:0.0 4 8
: :0.0
:0.0
0.020
1.000
1.000
:8.0 :0.0
:0.0 4 8
: :0.0
:0.0
0.020
1.000




( 16/ 18)

1.000
:8.0 :0.0
:0.0 8
D : :0.0
2) (@D 80.000 :0.0
3)
4) (
0.800
1.000
31
1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) (@) 65.000 :0.0
3)
4) (
0.650
1.000

32




( 17/ 18)

1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) (@D 90.000 :0.0
3)
4) (
0.900
1.000
33
1.000
:8.0 :0.0
:0.0 8
l) : :0.0
2) () 90.000 :0.0
3)
4) (
0.900
1.000

34




( 18/ 18)

1.000

:8.0

:0.0

D
2)

(

)

:0.0

:0.0

:0.0

0.070

1.000




1/

2)

K78021 7,163 3
K96006 | SUS304 FB65x 9 kg 1,133 11
K96007 | SUS304 FB70x 9 ] 1,342 27
K96010 | SUS304 L 100x75x7 kg 1,518 10
K96021 | CR P30x 10x 75 1:4.910 kg 28,800 29
K96022 |CR t12x 80 2.010 kg 21,700 30
BN
K96023 | SUS304 M12x45 2N,2PW kg 2,260 19
K96024 SUSSg4NM24X230 2N, 2PW kg 2,260 20
K96025 SUSBEL\‘l M12x135 2PW,SW kg 2,230 21
K96026 AP-12 427 22
K96027 SUSS(,:4 M16 2PW,SW 6 kg 2,230 23
B N
K96028 | SUS304 M12x45 PW,SW 8 kg 2,230 24
K96029 | 20kN 2,920,000 15
K96030 | SUS316 RA20 L=7.990 1,400,000 16
K96031 | SUS304 RA20 65,200 17
K96032 | SUS304N2 16,200 18
P96025 227,000 4
P96026 85.500 5




2/

2)

W96001

B2.00

x H1.55

393,000




1/

3)

@

35%

40%

0.00




2/

3)

1.000

10

11




3/

3)

12

13

14




1/

1

1.000

1.000

1.000

Co

1.000




1/

1

1.000
1.000
1.600 m3
20 78.000
D16 L=180 0.022 ton
2.900
21-12-25 W/C55% 1.600 m3
Co 1.000
1.600 m3
1.600 m3




1/

3)

1
m3 1.000 m3
« )
.3 t 6cm 1.000
2
20 1.000
20 1.000
3
D16 L=180 ton 1.000 ton
SD295,D16, ,10t ,10% 1.000 ton




2/

3)

4
1.000
SP
1.000
5
21-12-25 W/C55% m3 1.000 m3
SP
- .—.21-12-25(20) ( 1.000 m3
B) W/C55%
6
m3 1.000 m3
SP
( ) ,8.0km 1.000 m3




3/

3)

m3

1.000 m3

1.000

m3




1/

4)

m3 1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
1.000 m3
1.000
1.000
:8.0 :0.0
,3 t 6cm :0.0 8
1 : :0.0
2) (cm) 3 t 6cm :0.0
0.800
1.300
16 0.160

9.200




4)

ton

1.000 ton

SD295,D16,

.10t

,10%

:8.0

-4

8

0.0

:0.0

:0.0

:0.0

D
2)

SD295
D16

3)
4)

10t

5
6)

)
8)

10%

SD295 D16

1.030

ton

(

1.090

ton

1.000 ton

ton

SP

m3

1.000 m3

SP

,8.0km

:8.0

:0.0

4

:0.0

8

:0.0

:0.0




3/

4)

D
2)

3)DID
4)

8.0km

m3

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

iy
2)

SP

m3

1.000 m3

SP

2—.21-12+

:8.0

4

:0.0

8

25(20)(  B) W/C55%

:0.0

:0.0

:0.0

D
2)

3)
4)

5)
6)




4/

4)

)
8)

10)

21-12-25(20)

B) W/C55%

m3




RIBEM—

TS R7EH REML BHINE2E KHIUKS—F2TH BV FHERD)

22y g -Riv2 Hifi "%
nogE a9 )—bak (ER) m3 4,900 [EHEERE L=8. OKm
BHER95vT) fEAE—H1 ton 35,500 |:EHkERE L=54. OKm
BBREAKE
ORMEE

EB7v) X FHFR 20kN & 2,920,000

TVIHE SUS316 RA20 L=7.990 x 1,400,000

Bl F SUS304 RA20 r 65,200

REY SUS304N2 | 16,200




REEM—ER

IS4 R7E# REGL BEILAE2H KHFIKS—F2IFEGBOFERE)
BFR Mg B B fiff o
L 7peS
INRS KPR (1F9) = 227,000
B % % E 85,500
R E
AELT—MOTFT) B2.00m X H1.55m = 393,000 414.3kg
BAE
O/ izKFA(1F9)
ERIER KRBT L CR P30 % 10X 75~1:4.910 kg 28,800
FERKEET L CR t12x80~2.010 kg 21,700




REEM—ER

I$4 R7E# REME BHIN0E2H XABAKS—2THGBNFRER)
ey & By B e
ORF%E
7NfBN SUS304 M12x45 2N,2PW ke 2,260
T7Yh—B:N SUS304 M24x230 2N,2PW ke 2,260
~H1BN SUS304 M12x135 2PW,SW ke 2,230
BERTN— MR AP-12 PN 427
ORY)—v
av::|\ SUS304 M16 2PW,SW ke 2,230
NABREN SUS304 M12x45 PW,SW ke 2,230




RIBEM—

'R

%% R7HH EFMIL BEIAELE AFIUKS— 2T % (GELFERE)
E2E ] pSTErS Bf ==L S
THBEE (THERELY)
ATUL A HWE M#- THAH m2 7,163

MHE

ZF LR SUS304 FB65 X 9 ke 1,133 1*%33{%1% ;zlfo%f

2T UL A EL SUS304 FB70 % 9 ke 1,342 1*%8{%&% ;:f;i%‘;,z

ZF UL ARE DL SE SUS304 L 100x75x7 ke 1518 1*?13{%&%%%15

XUTIE,. BAR2BHELLTEH LLTWSEEEDEEEE(MHHY) ESEBELTRLIZEDTT,
EEISEES ABBIRIEEMIE =X 32,000
HBREES FELD) 4B EMIE =X 0




